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1. %A, BWFfE, 5P (A+B) =0.8, P (A) =0.2, P (B) =04, Il ¢ )
A P(AB) =032 B P (B-A) =04

C P (BA) =048 D P(AB) =02

2. WK IFHR A AMEL 0.1, FENINE T 20 5K 52480135, w22
FKECH X, I X RMA ( ) A
A TG B  Poisson 7} A C {8 D E&S

3. WEMRMN (0, 1) 70f, HEERE e (x) g (0) = ( )
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A IESDAR B - I4An C f5%¥unAn D Poisson 7 A5
3
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6. WX, X,, X, X, ik X BIFEA, WS A E RN SEA WM ERE ¢ )
1, 1 1 1 1 1 1 1

A =X +-X,+—X,;+—X, B —-X+-X,+-X,+-X,
3 6 6 ~ 6 4 4 4 4

C iX1+§X2+1X3+1X4 D lX1+2X2+1X3+1X4
9 9 9 9 5 5 5 5

7. WE (X) =a, DX)=b, M E(X>)=( )

A  Db+a B b-a’ C d4* -b D a’*+b

8. WA, B, C MM HARE R ZAMALSA:, H P (A =P (B) =P (C)
=x, W x M KAE R ( )

A 1/2, B 1 c 1/3 D 1/4

9. WP NPT [ — HFrioh—k, deh 20500 0.6 & 0.5, ILCHH
PRz, e e e AR R ( )

A 3/4 B 0.6 C 5/11 D 6/11



10. #7 A, BHAME, W ¢ )

A PCA+B)=1 B P(A+B)=1 C P (AB) =P (A) P (B)D P (A)
=1-P (B)

. HZTE (2450

1. XHRMN(=3, 2) 3, W2 FEd & (x) =
2. Y A5BHAMAEN P(A+B)=

3. XML AN P(X =k) = 22—k‘ (k =0,1,2,-++) Ul D2X)=
e K.

4. AE n PMCTEE WG, % P(A)=p, 1-p=q, WAFE A KAE k KRN

5. A, B, C&on =AW AB,C #IA KL AT A
6. D (XD =25, D (Y) =36, p,, =040D (X+Y) =

7. X, Xy, X, KA BEXIFEAR, S EAETZD (X)) BTy, & H

s O it v
8. /PR RHLE S

9. ®X~N (u, o>, o> RKunt, KK H,:u=p,, H

(L AE

WG RE_ CMH RO, SRR M.
10. P{HE4E H |H, W E}=a, Ma Ky

= WHE (48 7p)

1. HENWEH 2,4,6,7,8, 11,12, 13 [)Kk& H B K, 05 A LW
A3 B SRS 20 0 BE 20 70 Pt 2.

2. B MMIMEE/FSSHHR w=55, 0=10 IESSAT A6 :KG), sk
ATk — N, Al AR (1) 76X ) [45, 651 FIHEZR, (2) KT 85 R,

2 —y+l
3. DA (X, YD) IIBEE B EERECH f(xy) =1 ¢ x>Ly>10 g %

0 HoAth

Y (AP E LR S IR X 5 Y RO,
4y NIRRT BERTERUK) 20 HERAE IR ) (8D
9.8 104 106 9.6 9.7 99 109 IL1 9.6 102
103 9.6 99 112 106 9.8 105 10.1 105 9.7
BEREC N T] O SR IR T 85 A1, 2 5 ) LAIA A 2B IR T) AR B4 8 5 XK T

10 (Bl a=0.05)?
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